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REVEIEW: SEQUENCE AND SERIES

**TEST- WEDNESDAY 5/9/18**

1) Determine whether each sequence is an arithmetic or geometric sequence. State the common difference or common
ratio. State if the sequence would be linear or exponential.

Sequence Identify if the sequence is | Identify the Common difference Identify if the sequence will
Arithmetic or Geometric or the Common ratio (D or R) model a Linear or Exponential
(Aor@G) function (L or E)

a) 4,7,10,13,... (_3{ 0 = 3

c) 1,4,16,64, .. (, = u

L
b) 15,13,1L,9, .. A j= -2 L
2

d) 2,-4,8,-16, .. (; (= -2

2) Determine the 10th term of the arithmetic sequence in which a;= 18 and g, = —6.

0\\\'/ \} ~ L&TR/\S . Qo=11- LK\O)
Gz \E-Un T4 \alo;‘\%!
(0= 2241 —

3) Determine the common ratio\of a geometric sequence for which a, = 2 and as = 2592.
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4) A recursive formula for the sequence 18,8, 45, s GEOW\\?Y Q-«\ L \,, (= =

@Wg:% (35 g, =18 z
%n%%ﬂ &n = 251
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5) Determine the first four terms of the recursive sequence defined below.

@ a,=3d,. 06:2’)@3_‘ Gy” 50“\“! |
wova, 053230, 03230,  Qu=303 § H 30 A0%S
G,=3(4)  G3=3(11)  Qu=3(30)

G- G To= 16

6) Given the following sequence following: -12, -7, -2, 3.....

a. Writea r.ecursivefo.rmu/a for the sequence. b. Write an explicit formula for the sequence.
Ol &= -\ . On=0, v a0
o= 0 8| [0~ -1 5]

c. Use the explicit formula to find the 17* term.

a5
Oﬁ = “\2*’ 5(\®>
Q= \ZTKQ

(07 = 0T

7) Given the following sequence 16, 32, 64, 128

a. Write a recursive formglfa for the sequence. b. Write the explicit formula for the sequence.
Geongrric L0y =\ G On=0, 0!
N-)

c. Use the explicit formula ‘tgf ﬂn‘d the 17" term.
Oq= V(D
0=\ (D)
Olﬂ N \,OL\ %)57@ \\

For #8 &‘9, evaluété the expression.

Wkl = 5 3 2'_(= = |
8 5 4n+1 Ll(z)H = q g9) 3 2" ZZ AR
2 s s R 2
Wy = 1 277274 M
W(E)H =2\
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10) Which summation represents S+ 7+ 9+ 11 +... + 437

& i
43 et 24 _ 23
PADX @ > @n+3) C. > (2n-3) D. Y (Gn-
3 #=d = =3
0= 512001
Gn=5+20 -2
11) W_riie the following using sigma notation: 2|__+_15 +8+ 11 + 14 + ..+59 C\ﬁ = 2(\»\’3
53 13

(R 8=3
A1 ot S WU KM B 7
| Gq=2* 3(0-1)

U\‘*\ } Qn-,zir?)h“?) 54 = 3n ;}

+
Qn= 30-)
" LL- 5(\

The formula below can be used to model \&]IE{.]} soenarin? Q 20)

a; = 3000 CO‘)‘)ZS

= '@.Sﬁﬁzﬁ

12)

N The first row of a stadivm has 2000 seats, and each row therealter
has 80 wore seats than the vow in front of it L\‘(\}L(/

G The last rove of a stadivan has 3000 seats, and each row bedore it
has 80 fewer seats than the row behind it L\\\L(KL

X\A bank account starts with a deposit of 33000, and each vear it
srows by §0%.

. The initial value of a specialty toy is 33000, wnd its value each of

the following vears is 209 less.
(i ——

13) Brign deposited | cent into an empty non-intevest bearing bank
aceount on the ﬁ@xt day of the month. He then additionally
deposited 3 cents an the second day, B cents on the third day and
27 ves on the fourth dayv. What would be the w amaunt of
money in the account at ihf‘ end of the 20th day & the pattern
continued?

(1) 81162261467
{2; 817.433.922.00
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14) Katie invests $5 000 in an account that pays 1.65% annual interest compounded contlnuously How many
years, to the nearest tenth, will it take for Katie’s investment to double?
O\WS t —
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9} = —2, which hunetion can be used to generate F%’n m
v —8 ~7.25~6.5,~575,..7 &_ ,\C\) 3,%\— '1‘:)(.(\’\>
e o

(1) fin) = —5% + 0.75n : e _% N "(bﬂ "[ 6
(2 fin) = —& — 0.75(n — 1) O
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17) The population of Jamesburg for the years 2000 - 2013, respectively,
a \

was reported as Tollows: L{ %
—— T
250,000 250937 251878 252622 (= 1.003 G n/
PO~ (B2OMSANC -

How can this sequence be recursively modeled?
e ————— il

1’\1\\.{ j;iz = 3’@ Um{\i WP}?B e 1 g \\\Q\' (\Q-QU(‘S‘\\)_Q

X 7, = 250,000 + 937

@Dy, = 250.000

5= Ei}{hyﬁf

(4) §, = 250,000 . o\
Jo =t -3t 837 = \\‘\Q/M ’
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18) Write the following using sigma notation: 1\_:3+ 9+ 27+.... 7290 . “Tzq - 5 -\
X3 x% X3 \
\0Q) 729 = N—1

N
(\Z:\W | S

Simon lost his library card and has an overdue library book. When the book was § days late, he
to replace his library card and pay the fine Tor the overdue book. When the book was

19)
late:, he owed 3625 to rc‘g"&?aw his lihr ary card and pay the fine for the overdue book.

oW m“g £2.25

Suppose the total amount Simon owes when the book is n days late can be {kirﬂx}i;}n d by an

,mthm( Jic SCLNISNCe. Determine a bormula for &y if}w nth term of this se fgm 16E

5«2,25 (25 -2.25 L} YA

=

QZ\:(Q.Z‘S 21-5 I

(R U5 1.25 +,259(0N- 1)
ﬁM(Mi, \Zﬁ*Ziﬂ 25
L ey \&ﬂ"\"f 250

Lse the formuls to determine the smount of ey, in dallars, $troom noeds to Ty when the book

is i) dmg:, late.
Oy \F ,25(00)

l 0~ Uﬂi

-~ v-od = 40

20) There are 50,000 deer in an area and the population is decreasing at a rate 4% in each successive year

a) Write a geometric series formula, Sy, for the total number of deer over n years.

O, — O (™
3n* T

Sp= 5000 — 5000 agy’
1-.40

b) Use this formula to find the total number of deer in 13 years, rounded to the nearest integer.

3™ ngQC% Eﬂ)COO(:QUQV
QG —
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21) Rachel and Marc were given the information shown below about the bacteria growing in a Petri dish in their biology
class.

“Time, hour, () | 0 | 1 | 2 | 3| 4 | &
Population (y) | 250 | 330 | 580 | 800 | 1650 | 3000
+ 80
L 1.2

Rachel wants to model this information with a linear function. Marc wants to use an exponential function.
a) Which model is the better choice? Explain why you chose this model.

evgonennol bl C (+does noy INCreust by o cons-un+
Q.

b) Based on the model you chose in part (a), write the equation that represents this data, rounding all values to the

nearest hundredth.
U= 71598 (1-65)"

c) Using your equation in part (b), predict how many bacteria will be present after 10 hours.

" %=10
9=215.45 (109 B
Y=32302.15 = [31303 baur

d) Using your equation in part (b), predict the number of hours, to the nearest tenth, it will take for the number of
bacteria to reach 300,000.

G 500,000 = 21543 (L 65)

LB699Q% 26 .ay
x=19.50rs
23\6.@261(:\,(95’( [X-19.5 J

Logms 72215 0241 = X

22) A gymnast performs a series of full circle swings during a high bar routine. The distance that the gymnast’s feet are

8
above the ground at a given time, t in seconds, can be modeled by the equation: f(¢) =—-85cos [?ﬂt) +109.

a) Whatis idline of this function?
W= 109
b) Whatis thi I I plitude of this function?

c) State te range of the distance of the gymnast’s fee 5
[oa-§5, 104 185 = (L 24, 1au \

d) What is the period of this function? Explain what this value means in regards to the gymnast’s swing.

20 -3 E\i’g) 1 +AKes 125 seconds +0 compleit |l
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